
u^fr*tilffi{1
=4=1l.3'3

A=SxS
= 11cm x 11cm
'- 121cmz

aab*3c
= e.xb*3xc
=2x-1+3x3
=12*9
=9*2
-4
2,000,000 = Two million

450,000 = four hundred fifty thousand
+ s=five
2,450,005 = Two nillion, four hundred

ftfg thousand, five,

Teacheir's guidance

r25 -2t 22
=( Z J =T=lLyears 2O0F = l,bk

L
LF - _bk

200
1

2,100fi = mx 2, L00

= to b p gb ar!W1_q.f_1-q q l'
Ditference is in the last two diqits.

=(80*61) F1
=19*1
= Z0notes

= 10090 * \Aa/o * Sa/o

= ll5o/q

1.15
=-x110.0OOItrw100

= 7.26,5001'rw

550I'= ldollar
1

lF = gg5dollar
I

11, 000, 000F = BE6 
x 11, 000, 000

= 2O.O00dollars

Wffiffiffi, .ffiW&&WW ry\ffi*reilr- r;tinutes0.451
+1 .002
T.Am

+0-IITT*
S0 + 24 ; 8r,' '.

84-56=?8
Hours

?-1.1
1-1=0

LSU \
= 5o - (*o * 5oJ litres

T-*
VxzL = (ZL +7)x3

=3x3
-9

= S0lirres - L$litres
= SSlitres

=5x18,AAAFrw

= 30,0001'rw

A--
2

4cm x Vcm
=-] -
= L4.ctttz

li i r.a:-

..2# .3-$.nin

-th 5"6r:ri!ll

-JIu-JSnh
LCD after reducing = lS93
Ln :-xZB =21 ......(rti)
L,L 2

49 =- x?l) = 8'^""'""(fi)
2t1*..- =-XZB -r1 ..147 7

Stnalles t ft' ttc.tion =

(6 + 3)r2''1y4*2

2xyz

P=Sxt]
=6cnrxB

= 48ctn

Px7'xlt
f_

1.00
3,000,000x?x7D

=--_ L00
= 600,000.1'rw

P: C -l-I)
1

= --trD -F I)
2
LzZ:;X-;x7Acztt4-70cin
L/

:110cln -l-70;:tn

= 1t.l0crr
V= SxSxS

= 6.3ctn x 6.3cnt x 6.3cttt

= 250. (J47ctn3

')

LZctn x lucnr

= g6ctttz

.. .. (r)
'21

L4?

1sl year

_P xT t ll
100

* 300,00{, x 
-.t 

x l

100

= 1 5,000Frvr

= 300,000 + 15,000

= 315,008Frw

= 1i5,901:li I
100

= 15,750Frv.r

= 300,000 + 15,750

= 330,750Frw
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zu 
| 

1'5.lr =zLW:+Zl,H +Z,WH

I = Z(tg x12 + 19 x 7 + 12xT) cmz
I

l=2(228+ 
133 + 84) crpe

I = Z* 445cmz

| = ggocmz

,rlfm
tl
l(f0x*)+(140x20)={160x30) |

I ro, * 2,800 = 4,800 
I

I tO , = 4,800 - 2,800 I

| ,0, 2,ooo I

I 10= 10 I

l*=20oFrwtkg I

6;;;;i:rtr,!i',--r :"' ' -- - -

lman=(Zx6)duys
tZ x 6t,

4men = (-;Jrcals
= 3days

31 Pert {at
LCD = 10

ttLY 
- 

1t,o(ff) =to(;)+10(z)
2{4x-2)=5(r)+10(2)
Bx-4=5x+20
Br-5x=20*4
3x=24
3x 24

-=-33
x=B

P.a't {b}
=.3m - 6n*2m* lJtt
= 3m'*?m-FBn* 6n
:tn*2n

32 33

= 
(*.f)j (i:il)

26

9

_; + ?, (, ,?\*16=-U-* = (,z * sr s
9

_ft-G * ?,xe\ 
. za*t 6 /-E-\/

t9+ 41 26
= t-l+_\ o )'s1326139
=-g_ =_lr,__6 9 - 6"26

,
J

i

i'aftla)f --I r T-r,-l
[ 5 I 2 I 10_ I

I 1r -f z-f n-
l13L4l52l
l-- Total I Tl= 18 I Tfx= 180 i

Tfx = 180

rt'rean=i.f =.'fT -ru
34 Part (a)

l0l ltwo
+ 'l I 0tro
t66EIIE

72len= 2200ttrree

35 Jb
pa( (al

Set B = (s, u, r, f, a, c, e)

part (b)

AnB = {f, a, c, e}

part 
G)

AUB = {a, b, c, d, e, f, s, u, r}

INnl I \r**t__ t\v ^ *+E,i'-
n = ^[nz -W
= /U n1dr: (il,h;./,i,
= .lz{"rr--:;irr,r,
= {5"*-.-,
= 3ctn
l'a AB -t- BC + CD -l ilA
24nrt=r"l-5*4-Fx-13
24crn=2xttz
Z*cnr * LZun :2x
'l,Zcm 2x

22
,T ,* 6crrt

Ali = 6c"m,Cil : 6 -i * ='!"actit
h3

n = ,(a r-I) :1{6un.i 10i'm)

lJctn x L6crit
= --}._- =' 24cn*

37 [?:ffiom] [?:t.ouml'tus Csr

r=fign=sxrtallJll

= 
!7Qkm : ( *^ u!

56lcm/h * B}knt /lt \"" " +

LTAkm
=+*7tlk77.:L36km/hr

f

lnn'l -- 9: 0Carn -r j ir-

9:00ttttt -i- 1: I 5

5
= -hr4 = lu: l5a1n
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